
fiflp1 1 
yoro r t s ro ) : ** frt rri\fqo-vm { ftfim vrril { afirftqm qftwr { H qr&

frrslftt+ql{ql (E-qrt{ )wi'$T$t Vror qr<E*'o oE{.r{E.+ frErftrfuTcr+*Efl(
{FitS. 1 lfa tou}o vftqn, zo r o )

t. trfr vret t gffi fq-el6{ srfidr{dr qtqTr t H qrd ffififr 41 srtr( {wr ffi t ?

(a) 33s00 (r) 3350 (c) 17500 (d) 33 5 (r) r+t t +t{ rfr
2. yr6{Dt srfrtrrtrdr qtm i H qdi +1{6qI, yr6{ 6{ sTFr+rq-dr vfrmt ffi qdf *1{qr

qre.n+qffiyftvrat?
(a) 243% (b) 413% (c) 134%o (d) 34r% (e) 143%

3. {r{{ c i rr D t ge erfiI+r+ar vtm t td+ ffiii qi {qI sr yrEr l, D ilTr a t gie {s qftHr

i H qriir B1{@r t mcfl, flr erJcrd t ?

(a) 1l:13 (b)20:13 (c)20:47 (d)37:20 (r)F{it6t$r-d
723

a



724 . oiErlrqd

4. {r6i B t qfiiiffir ltefl t H qdt +t {qr qr vrrr z t w qtm d H qrd +1 {qr or
wt ergvn t z

(a)3:4 (D)13:16 (c)ll:16 (d)2:3 (r)F{frt+tiTd
S. rrr r t q6rfrr+o qfr$ q fu| qd d {qr 61 e$ f<i,rt 16rf t Ve Ttqr t H qrd 61

{reqlql €rrq{ ffi yFd{rn t ?

(a) t5% (b) 17% (c) re% (d) 2t% (e) 23%

Ei t 1 (a) : qlfiIlEd * e{fi{qtr{drqtqrtHqd 41 g;e {qr
= (40 + 32.5 + 17.5 + 42.5 + 35) EsTR

:(1675x1000)=167596.

srge otsd {@T = 'uToo = rrto,

Ei { 2 (a), .i..a= % = 
{1' ?(!_ s'-lffi ,, * } 

* = [ffi ,, * 
]^ 

= 
[

=( !l*\* = ro, 86 = 243% (Ern,q).
\7 )

C dql D * ii3 fruPfi = \17.s + 42.5) / r0oo - 60000.

l, Dirqt E+ gffi t{fld : go + 42.5 + 35) x 1000 : 117500.

orrfre e[dctn
60000 24 ",.,.
117500 4't

Yfr{4 (r) : a *ffitit +1{qt :,q htrHrRmd{ql
= (32'sxl000) : (40x1000) = ]]{ = li =13 16.

40000 t6
q.fr€ %=f 35ooo xroolz,=l

[ 167s00 ,l (
11xtoo
6',7

llxloo
7 Y

ts! {3 (a):

fil{s (d) :
Y

=20.89%=21% drl\\

ftd,rqqrna.6m



sqr6{ut 2

fi rtyr ( r"to 5 { 1 e 66 1 : fturft lfua tot fqfi t t qrqfrof z asT a ERT frrra B: scl { qfr la
ufr rvrd irllr q'T d{I f+n'rqr t f.rot qr<t*+ srqT{ Erei fr R+.rn cr+ * vfl {iFqS.

( to Qosilo qfrHT, zoos )

vfrm etq = {rqrq) - tqqr r,r,
Iqq

,,
E

200t

6. q{ 2007 t o'q-fi l q1 sTrq 6.3 drq {cA fr. ss s{ qq ffi-fir qr ?

(a) ? 42o0oo (b) ? 32sooo (c) tsl6500 (d) ?250000

(r)s{{t+t$rrt
7. qd zoos { 6qfi z am efild drq 61 {Rr ? 3 1.85 drq fr. vq qd qq f6-f,<t cr z

(a)? l07dl€ (r) .45 dIEI (c) tglHIcI (a) f{tlffta rfi foq q s+ot

C)Edtst$Tfi
s. {"fr qfr 6} f{drm{ q'qi ,l +l qtsc erq ,6qrd Errqrr td-il{r ett ?

(a) 37% (b) 33% (c) 39% (d) 48% (e) 42%

9. q{ zoo+ d qF< qeFrdt' I ne[ B 61 snc wn d, t s<h qq qr *qqr: erJqrd flr Arn ?

(a) 3l : 33 (b) 27 :29 (c) t6:23 (al t+ttR< rd foq q smt
1";5+{ taI$ld

10. Hrrd qd t 6qfl r6m srtdd Hrq fr1 stsdnftrffit?
(a) ? 41.69 EII€ (r) ? 33.33 tlrq (c) t 26.45 EIr€ (4 fiqifta rfi f+'q q v+-<t

(,)flfrt6tiTfi



726 . si6rrFrd

fri rrq wni Aa

YtR 6 (a) ; q6 q{ 2967 i[ 6qfi I iE qq = r x E[q. irq
6.3-x 50 t --11 A ',t-

x 100 2

-3x=12.6+ x = 4.2.
.'. q{ zooz d +'qfr I ET Eqq - ? 4.2 Errcr.

vtR 7 (c) r ed zool ;l 6qa I 6'r ellr = (s{rq) - (qq) = r 31.85 enGl

31 85 
x10o = 35 + qq = 

3lE5 qrs=to9tars.qq 35

sirt 8 (e): qrfr qff if z srsrtsddrq %

_ (45 +40+35 +s0+45 + 3s)% 
v" =E!y. =yv" = 4r.66%= 4z%E,tfl,q.663

Ttr 9 (r): qr{r s{ 2004 d6qilnqrBitr+d,u1 qFrxr Gr? d. qmqeqddE,qt,a
iE.l qq =? rHtq nqT5ffi 3 fi qq = 1 zeIGI. iFI
x-y 45 x- z 35

nql
2 100 z 100

=+ 100.r = 145y lT 100.r=1352

i v =zox Mt 
" =20''2927

v 20x 27 27
- - = ------x-----_ = - + t.: z =27 :29z 29 2Ot 29

:fir{ 10 (d): {cetfor em eifria dlq 41 srtsd {IRr d|n rql +1er v+-fi.

s(rtrflr[ 3
fii$(roq" 11 t 1s irrr ) : fr*f<irrt<us-sri+q{ftfrr<ftrgrfiql{lrdqt{qrqfltt
qf tnErss+++fdrriqre{E9F{+q.rrFdyrdsifu(t.fr<Yfr arrrfr -rrft qqfi Erai
ftqftlkrvrfr*vf,{{frS. (ttoQost}oqfrfi, zooro)

3000

2500

2000

t000

500

E

t
500

0
P a RS

f{qmq -._
T U



,l rr: :i,r:tiiiiFfr :laitrta

lr. f+qrfiq rt e-.s-+1 +1 g;e {qr ffi t ?

(a) 500 (b) 600 (c\ 7s0 (d) Eso (r){{rlt6tiTfr
12, f{srmq R d Bri +1Em {er f+uro< sfiori +1gm {wr 6r vrnrr ffi rfffR t 2

(a) 89% (b) 7s% (c) 1Eo/" (d) 82% (e) 94%
ts. f{f,rfiqp qdsf6.if ol{qr fi f+srdq Oidsffi+1{qtt*q$: Hr qJqrd t ?

(a)27:20 (b)17:21 (c)20:27 (d)21 :17 (r)E+it+i$rfi
14. framd R ncr Ud E:e fr-flql (s+) q,r yfcsm f+-trfl t ? (EqIErcH + EE 2 eieif r+ gtr+-a;

(a) 18.ss% (b) 72.4s% (c) 76.28% (d) 7s.83% (") flq t fii Tfi
15. f{€rmd p ittn gt gn fuor+r wc+) o1 s+{d {sr ffi t ?

(a) t42s (b) rs7s (c) l4s0 (d) 162s (") E+i t +ti rd

$ {11 (c): faroq rigmqd+1riqr: rzso.

wq t e-cH sl {5a = [,rto,$ )= tor.

vs t{ardrq i ilsdr 
"i 

# = (,r#1 Joo; = 75e.

sirt 12 (a) : f+sffiq r d g;e BH = 2000, f{q|-mq tq EE EFI = 2250

emfr€ %=
2@o 

x loo
2250 Y =8oo y. =gg.g9o7" = g9"/o

9

siR 13 (c) ; f+srmq r t Csf{?it B1 ri@r = (2soo 61 40%) =

ft-srdq g i ilsf+lt- 61 risr = (3000 61 45%) :
qsq qqql6 =1000 = 

20 
= zo ,27 ." 1350 27

25oox 
4o

100
/.(

3000x--1
100

= 1000

Etrrqqr.it6fe

= 1350



zl8 . d?fi,qfuR

fr{ 14 (d) : trrqrEFif R ftII u i gn e-.r+if +1{et
: (200041 72 s%) + (1000 61 82 5%)

= 
[ 
rr"h, 

). (, 
ee6, 

82J)= 
r r+s 0 + B25t = 2275

tr{rcrd R nQr Uq E;E q.ql d {E{I = (2ooo + 1000) : 3000.

q$e %=
))'t<::i: x 100
3000

=455 y. = 15.g3o7..
6

3i { 1s (r) : f{sldd P dslr O i[ gid tr-er* ee+il +t tet
= (2500 ;Er 60%) + (3000 rFI ss%)

25oox 
6o

100 )-r 
(r*,ffi 

)= 
tl5oo+ 1650) = 3150

. 3150
- SIaIIe SrRId qG{l = 

- 
= 15 /5

2

sqr61!t4
Frivr ( voro r o t zo ), *i Ri.rt tcr-fuit d t fqfrra 6qFrd + frfrra fflIFil t q,r{rn
qffi'qI * {q ( W { ) ft 'r$ t Vrm riltr-ffid o{q.r{ E.r* Frqftkt qr+ * Tf,{
{FqC. (totosfroqtqn, zooto)

HR



16. +.q+ B + f{qun fqqFr it +,rf{il m.ffi +1 riqr q,qfr t q,r4ra qffi-rif +1 Ed {EcI 4'r
fficfdfl(t?
(a) 30% (b)zg% (c)23% (d)32% G)r{it+{Tfi

17. Eld *.qFrd + c{ns{ tflr,il t g;( frelq-{ ET+rd E-ffii 41 {sr 41 +n 6qfid + fqr
f+{Fil q g;d fudr+l qrfta +.ffitd *1 *iqr t *q*: er erSvm t ?

(a) 2:3 (b)4:3 (c)3:2 (43:a G)E{qtEiir-d
18. 6q'fi I * Hn frqrr d 6r4{d q.ffii 61 {qr 6q-fi a * t+t fr qrq d qr{.ra o'ffidf sl' {pa1616rrqqffistd{n t?

(a) 44% (b) 207o/o (c) 53o/o (d) 229% (e) 198%
19. uR q.q4 6 6 rr EqFr { ql4{d Effi +1 {er t zo"z" gfe d qrt, i +qfi a *, rr fqqrq

dqr q.qfr I + s{ng{ frqrrr t +'rf{d 6ffi 61 {@r + d-q f+'-il{ qm dm ?

(a) s00 (r) 3s0 (c) 700 (d) 4o0 (e) {q{ t 6ti Td
20. sqdl + q$ fEqrri l' 6r*{d qffi d sttsd {qr ffi t ?

(a) 600 (r) 58s (c) 620 (d) 615 (e) r+S t +ti rfi

sirr 16 (r) : +qfi r i fqqqq f{qrq t odaFafi 61 qqr : ,rO
qqfirdorftaq.ffi'fr+1gn{er

= (750 + 500 + 700 + 350 + 200) = 2500.

,*fio x=l 7oo ,roo )"2"

[2500 )
=28%

BiR 17 (d): q'q-fi,a 6q16 $ yqns{ frqFft + 6ffi ft1gE rtql
: (400 + 200) : 600.

qq+ I nqr I h frr fu+,il * mffid +1 $E {qr
= (450 + 3s0) = 800.

- 600 f =:,+.3{qle srtqF = 
tOO 

= 
+

3in 18 (d) : 6.qfi I *I1lrtqqFr * +ffi-fr d {qr : eOO

6qfi B + fq-{ faqFr * offi d {cqr : rso.

sflfr€ % = f ryx l oo Iz" = 
| 6jo,t 

= z 28. 57vo = z2s% (u.t+tt)(3s0 ) 7 . --'
$iR 1 e (a) : 6Efr B + rr EqFr t a*qntr + rE tqr = [tro, l?9 )= m,

6.qfr z hcYlrqr faqrq cqffi +1 tsr -loo. 
to' /

offiq sp61 :.1999 - 4oo) = 5s6.

3ir{ 20 (€) : q'q-fi z b m.ffi +1 efi f${rrt d s+€( {@r

= I,soo* too* 850 + +so+ +0or = 
3050 

= oro.55

H,rqqYiI*E€



vqr6{ut 5

fi{g l qoqo 21 t 2s ) : ++ f(A rri rnm { furra qtf t frt q'qFri ErrI grftt{ EIrr
( qrtg u. t ) f<qrqr rrqr t vr+l qnE*o qqfi q,t*. FTqfrfi*{ vrit *. str {fuq.

( lfa *osilo qftqn, zoro )

21. sd 2008 i il-i +.qF+ql arr slfttd qtqd EF{ fs-trfl ctt ?

(o) ? 300 iEtg (b) ? 400 6tc (c) ? 3soEte (4 ? s20 s-te
(,) F{it+tiTd

zz. fiqfufun t t t+q qd E.qffi a asn I ERr srFfu drq *, frq qrdq er<{ eil?

(a) 2003 (b) 2oo4 (c) 200s (4 2008 (,) {+q t +$ Tfr

2s. fTqfrha({tf6.qsdffiE.qFTqIEr(fudr6.{gR erff-d drq sqlfrrfi qI?

(a) 2oo4 (b) 2oo7 (c) 2008 (A 2oo9 1r;5frt+tirc{
24. s{ 2006 t q{ 2oo? fi s'q-fi I gr(I qFtd drq t Errqrr frdi cfd{d Ck Ei 7

(a) 36% (b) 24% (c) 40% (A 20o/. (e\ s4%

25. q{ zoo+ { 6lrfi I ERI srFfd dlq ner qd 2009 i 6qfr c rRr srFld dlq E'l Fd.. fl €f,fr{ qt 7

(a) r 50 iF.ts (6) r l6tr€ (c) t 100 ate (d) ? 200 ste
(,) t-{itutir-d

/:

E

!!#!lIE!



teIF? r zsl

H,rlqrn*re
siR 21 (r): gr$€ sitsd Hrq =t =f ,lso*eoo*+50) 6tg =? 400 6ts.
ER 22 (e) . flra-firq q{ t ,a r B *' qrq sr qdr .

2003 J (2s0-200) ats t. = SO sts t", ZOO4 -+ (3OO- 250) si-E r. = SO qts r..
2005 + (350-250) 6i-s r. = too q-te r",2006 -+ (400_275) s-ts r'" = tzs +.ts ro
2007 + (375 -350) 6i-s Eo = 25 q;ts Fo,2008 --+ (450-400) +"te t. = so uire r"
2009 -J (47s-425) 6i-s t" = so qtg t"
1t v<i t arcc er<r q{ zooz d ra.

ifin 23 (d) : fira-FF uq q * 4.qFrA 61 Se tlrrr .-
2003 + (2OO + 250 + +OO) a'i-s r. = Aso Fi-g r".
2004 r (300+ 250+ 350) s'ts ro = 900 4.ts F..
2005 -+ (2s0+ 3s0+4oo) 6-ts ro = lo0o 6ts eo.

2006 --+ (27 5 + 400 + 300) 6t-s Fo = 975 6i-s Fo-

2007 + (375+3so+450) 6t-s ro = I l?s 6-+s ro.
2008 r (400+ 450 + 350) s-ts {o = 1200 s',ts Fo.

2OO9 - (425 + 4',7 5 + 400) 6',t-s Fo = l3O0 ifi-its F..
se t f+ qt sqfFr+ q{ zoos { 16r_

EI{ 24 (a) : qd ZOOO I ; qr onr - ? 275 6ts..
qd zooz i z cr arq - . 375 s-ts.

cl6 e"=f l!9rloo l"^=1Qz=:o 360"=36eodqrflT.' (275 ) n
saT 2s (c) . Utr 2qga q* src-i I Em erftio enr = t 300 i6ts.

ad zoor tf aqfi c'-Enr erftla anq : r ags 6ts.
er'frq er<r : t (300 300) 6t-s : ? 100 ir'ts.

EqT6{ur 6

Frtvr ( uoro 2 5 * 30 irtr ) ; ++ fqi'r+ Trq fi -{ 6qP{ft ,1, r asr c* tr+d d yft rq{ E{ cft vrd
gF6 svrtt t. E{o,r qr<T+{ srqci ol* *n ftrd vrnt * sE{ {Fqs.

.I_ A

-o- B

-o- c

90

180
l,o
l*

H,,O
Eqo
', l0
I

l'o
I ,o

0

2001 2008

+q{..+

2004 2005 2006 2009 2010 2011



t2 . ili;rllflltt

26. fr+ Ta qfr q *-r{+ I + H trql"t^ i vfdYrd qk 6l sTtsd frd{ t ?

(a) 60 (b) 4s (c) 40 (d) 36 i (e) F{fr t o'ti rd
27. qd 2007 t f6q 6q+ s' frqtd qqiftrfi q ?

(o) A (b) B (c) C (4 f+ffu rfi f+-+ q s+-m

(,)tt i +t{rd
zs. 6'qfr c+ q{ 2007 df,rqld e50dl, 6 q{ 2sse! ffiai t ?

(a) 1.311 (b) 12s4, (c) 1442 (A rr40 (e) 1268

2e. f<t Tt sff t xfd e{ fro-d e{ +1 gil{ t trq 6qfr + frqtdi t xftw gfc v,q€ t ?

(a) B (b) c (c) A (4 ftqitrt rd fu+ q n+-m

rer fiq t sti Tfr
30. qft o'E{fi c} qd 200s t $e frqia roze E}, fr sd zoo+ t trqla ffi d ?

(o) 1078 (6) 1186 (c) e90 (d) 1000 (e) 980

sir( 25 (c) : +qi ,q * frqta} i vttsld Std 6,r *sd
_ (20+ 20+30+60+60+50+45+35) 

=34 =qn.88
tsit{ 27 (d) : dB. ffi fi 6.qfr + sd 2004 qcF[ W+ sE fiTqtd +1 {qr erdrd s, 3rd: T6 nrd

rd t+qr qr tmr t+ qd zooz t f+q q.q-fr * fflid Fqiftrfr +

Tar 28 (o) : 6ffi 6 q; ug ,oo7 ti fTqin : 9so.

. 6q.fr c+ qd 2oo9 i f{qfn

:95061 l7|o/oT,l 115Yo = - _^ 120 11595UX-X-
100 100

sir{ 29 (d) ; qe t fq *qfr I + frqta i gk 6'nffi (EirQ {fi
Bir{ 30 (e) , qH1 q{ 29ga d 6qfr C} frqtd : r.

= 1311

drl, r t0l+-
100

= 1078 = ,x 1l 
=107E= x=

l0
toz8x19

11
= 980

Rd-rnqr+*6d

vqr6{ur 7

Ftfu ( Eoro 31 t 3s ir.6), *i Rtrtqm{ <}aqFrfr r aqr O* g{rqrn (sI t{qtd Er
srgcra fflr rrqrt m6 E'I qr{T+fi 3rqfi qr* Fmtaffra crn * r-*r{frq.

2.00

1.80

1.60

1.40

P ------.--
Q+

I
I
0

0
0

0

0

I

e
E
Y
a
F
ts

.20

.00

.80

.6C

.40

.20

r,\9!>Pqo
NNd^I

qd.+

00



3r. qR aqfl O+;'qq 2oo7 dq 2oo8 t g;e F{qid ? 24 6i-s A, t w t qff { qrcrd F+,-ffi er ?
(a) ? 20 ?6.t-s (r) ? 32 6,,t-s (c) r 16 6.,ts (4 Fd t 6ti Tfl

32. Ri,ri qfr t t trdi sfr t g q,r or<n fraia t erFr6 {6r ?(q)2 (b)4 (")3 (4r
33. qR s{ 2008 t s.ffi p 61 fffi 6o +'i-s t d, t gq qd yq 6.q-i tr'r ercrd fs-il{I aII ?

(a) r 62:rts (r) ? 70 6't-s (c) r 8a t5't-s (4 r EE 6.i-s
34. Ri Ti sfl { 6pri gw gi.m frta f*-o-<r w z

(a) * 60 :E-t€ (6) i 70 6-i-s (c) ? 100 e'te (4 qf6-g srcqiq
35. td rri sff t q.q-fi p 6l F{qtd, snqrd sl gilfl d f6q qd efrrreq ro ?

(a) 2006 (b) 2007 (c) 200s (A z0lo

sir{31 (4: E-qfr O*fElq:
qd zoozt, !=t z= t,=tt 2\ Et.

El

sd zoos l, !=r z- tz=1t.2\ Ez.
E,

... (rt + r ) = (t 2) El + e. z) Ez -- 0. 2) (Et + E2)

= (1.2 x 24 6,ts ?) : 28.8 6ts ?
err: 6.qfi g fi 5c z qff iE'r s{Hrd : zs.t atc t.

Err 32 (r) ; *.ffi g fr frq qrqrd > fun ilfr d,rr q-qfs' 5 , , 
"t.T6 ils ttqr v-qF6 ( srcn : Ffltd) > I d. rfllil

Otfiq,tI{etfs'T6 srlqkr > ts{2006,2007,2008 nqr 2009
srqid qR sff t 16r.

vin 33 (c): 6,ffip61"ouq2oo8i :=l 4
E

.'. I =(l-4xE)=(1.4x606t-sr.) =84 +-ts to.
€rd: sd 2008 t p 6r enqn S+ 6ts t (6r.

sir 34 (d), Rt,rt efr i ri o*fr q *. tr<fa +1 vn-ort rfr t.
eiil: Ec sd mT 6qfi g 6't eltco ftela vn rd fo+ qr v+-or.

:'it{ 35 (c) ; P 6,I Frqta elFrd6- q n-s dqr qqr6
e{qt-( ( 3nqrd laqi6; a.mr d.
nstHEtfsrtqdzoostt.

/ enqrd t

[mJ=-*"o

f<i,rq qr+* Ed



?34 .o ;ftEIFR

E-<r6{ut 8

f<tvr(uoco 36 +401*' ) , {-iRt.riqra,{ffi4q461 6uq1dq} erq*,4 Eqraa1
sqa ( rqr( z-+ d ) <wt$,r$ t Vrror qq{r{ E'{+ +i ft rA csif *' str {fq}.

B
30

25

20

l5

t0

5

0

.!.

O *r.E a

E qrE eF
E

E

F

I

t-
Ir

2005 2006 2007 2008 2009 2010

qd ----------------

ro. ffiqfri urg z +1ura f<t.rt efr i ur( r 61 Sfl-duqttoqtz
(a) 2qd 1r1 :e{ (c) aE$ (4 ssd

37. s{ 2009 ii I nqr a d uqr ii fffi{r ef,<{ qr ?

(a) s00 T{ (b) 50Er (c) 5000 an (4 5z.{

r& t+-e Ed t fi urgfr +1ura at++ilq rfr u

(a) 200s (b) 2007 (c) 2008 (d) 2009

39. sd 2009 i sd 2008 61 gilfl t I 61 qq-c t ffi vftqrd 6.fr s{rfr ?

(a') 30% (b) 25o/. (c) 3s% (d) 40%

40. s{ 2010 ii B 61qro f+q <} ed q1I 61gE qcd } 4{rE{ tfr ?

(a) 200stefl2006 (6) 2006 terl2010 (c) 200snQI2010 (d) 2007 n'?Ir 2009

H.rlys.il*Ed
sfi{ 36 (d) : tng I +1 sltve ur< =

siIT 37 (c) :

3ir{ 38 (4 :

3ir{ 39 (r) :

fls2.s \
= t , I 

Efrr{ EI - 2s.4 6qR e{.

se t f+ qE I 61 Eci 25.4 6qR e{ t 6q q{ zoos, zooo, zoo?, 2009 nc[ 2010 tf
rd eqln s qC rd.
qd zoos ii qrg ,B nefl r{r{ I 41 E$d { ird{

: (2'7 s00 - 22s0q a : 5000 EI.

fqfur qfr d <tt q6ai' 61 $e uc-( (rqR zrit t) :

2005 --s (20+25) = 45, 2006 + (15 + 20) = 35,2007 ) (25+20)= 45.
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3it{ 40 (r) : e{ ZO1O { Urg r +1 urr : :zsoo ar.
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qd zoos t Mr qr qu : r eo o'te
frqi-( t Cf6 : ? (80 6t-s - 60 q''t-e, - . 29 ots.

s r 42 (d) : Efiri qff i yfd ffii-d faf6 a* :
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)= !9!g = (r sxr04 ) = { 1s0000
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I
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=
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42. fqa rTi qd i t fr€ q{ efr ftiz-d tTqtd t3r qrdc er ?

@) 200a (U 2006 (c) 2008 (4 E{q t +$ Tfr
43. q{ 2004 t qrc +l fTdd qiq sfd t*i-€ f6il{r ut ?

(a) ? 150 dI€ (r) ? 15ers (c) ? 1.5 drcl (d) ? 15 E-qR

44. fri Ta sfr t f+'q q{ trqfu +1 qnr i sqh firs-d e{ +1gd-{ i tnr+a +r qFd{rc srFr6-dq 16r ?

(a) 2006 (b) 2oo7 (c) 2008 (A 2009
4s. qd 2006 t sd 2007 t F{ctil qrrr t ffi sfd{rd 1F6 Ei ?
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=< 125000

(sorts\ toxtoT
2005 -+ | ::--l-l-li l="" "-i =(qxl04)drnTq=t90000

I eE* J exlor

/ 16s o"ts
2006 +l

I 8E*
11 1 76 *-i-s

2007 +t _
I lsEqR

/ r ro q-tc
2008 -+ I

I 14 6qR

2ooe - flso fr
I 12 E-qI{

( r+o qtc
2010 -+ I

I ls E-qR

looxtoT 1oox104 25oxl03=-=?125000.8xlo3 8 2

- 
170x107 

-34x104 =110000tFI,{.I= {u0000
15x103 3

- 160x107 - 80x104 
=t1.4x10000=(114000.l4xl03 7

l5oxloT l5ooxl03

l2xl03 12

_ 14ox1o7 _ 28xlo4 
=.9oooo E.ftFr

15x103 3

se t fu{{ sqi qrdc A* a{ zoos fr w.

Fr{ 43 (c) , qd zooa d qrq qr trqta tlq vfa f+ire : t 150000.
: ? 1.5 dIGI.

Ef,{ 44 (d) . se t f{, frqfu t FRr{a s{ 200s t q{ zooo { <qr qd 200s t s{ 200e if qr4.
(e000 -8000) xlooJz = l!9x = r r. r r"ze000 ) 9

2oo5 t 2006 t trqid fr 6fr =

2oo8 Q 2oo9 i frqtd fr 6'fr = 04000 - 12000) 
x100

14000
y. =2oo %=tq.zgyo.,7

€rd: s( 2009 d fr+d i ft<r+a or sff,{rd srFq-.F-iH T6r.
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ftivr ( [oro 46 t so irq, ) : +A R] rA uru t o, afr { go rr< d r}t g6'ii, drA fiarsfr aqr
qltqdqrcft vraf<orqrrqrtsfr *+nA{$alfuqldgerre{Etaff dgss},cfr arfr
aur rd at gn {ur { G t. fmr rrfr -ffi elwa< 6{h +i f<t .r} cr+ * Ed{ {FqS.

1 {a Qoer}" vfrqt, zoto I

frrra qd { go rrq { gsq}, cFdEft *. wif qt Em {et

sqrflq 10

ed $c cffi {+
2004 54000 38000 15000

200s 75000 64000 21000

2006 63000 60000 12000

2007 66000 s4000 16000

2008 70000 68000 20000

2009 78000 ?5000 45000

46. s{ 2007 t frt gdr, +a cfcdloif aer +t qd 6I Errqq *sc fu-tm q ?

(a) 12683 (b) t279s (c) 1286'1 (A 12843 (e) 12781



f$ ! dilrrFkr

47. q{ 2ooe t +t gtdr 61 {er yS q{ ffi i tkr r di qTA g{qr o1 {qr or ffi
ntd$a fr ?

(a\ ss% (b) 60% (c) s0.s% (A 6s.s% (r) {{i i 6t€ Tfi
4s. qd 2006 i tA qfeoret Bl ltqr aeTr sd 2008 t tt ydr +1 dsr +r qqqq fs-fr{r q$nd pr ?

(a) 6 : 7 (b) 2r : 6s (c) t5 :73 (d1 48 : 77 C) flq t +t Ttt
4e. q{ 2006 d ta qfeer$ <ur fr} {q} *1gn {er st{ sfr sd dt y€+r 61 rtqr i fs-nr

3rir( t ?

(a) s47s (b) s't4s (c) s04s (d) soTs (r) F+q- t +t$ rfr
s0. sd 2004 ilr s{ 200s i $d fu€rs.( tS {qT 61 {qr ffi 4 d ffi t fitrn r-d E ?

(a) 4350 (r) 31s60 (c) 4s3o (d) 316s0 (r)flttr5,tiTd

E' t46 (c) : 
"d

2oo7 d tt g€fr, d-fi qfuerd aqr t) qd d gF{r@r

=[ooooor-]1*s+ooox 
25 +rooooxl2 5 

)( 100 t00 100 ,: (23100 + 13500 + 2000) : 38600.

qS€ sitsd = "900 = ,rtuu. o6 = 12867 drrrr.
3

yfrr 47 (r) : e{ zoor i tt 5rfr 41 qGcl = [ zsooox ',1^5 
'l= 

zszro.

vs e{ .t grtr 61 {@i n ft f,i t :,r'roo1o/ rrrro) : 487s0

enfre %=
29250 ,too
48750

= 60%.

sriR as (d) : qd zooo { d-6 qft-qreit E1 {gI = 6oooox 
2o

100
= 12000

ed zooa d t) gtfr d {qr =

orfr€ srrqrd - l2ooo - 240 - 4!=qa,n
" 19250 385 77

Birt ae (a) : qd zooo i qtf qieerfr dPrr tt a<) *1 gq qsqr

loooox2T 5

100
= 19250

6oooox 
20 

+12ooox 25

100 100

qd zooo { tZ s{s} +1 tqr = lo:ooo
(

3TrfiE 3rfl - (20475 - 15000):5475.

32.sx-
100

sii[{ so (d) : s{ 2004 i tZ {A +1 {qr = l/rsooo, -11( loo

sd 2oos t t) qd +1 risr = [z r ooo, l o

fl aeT { 1-e {t qfr 
"i "*, S at # $
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2
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)

2250
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qffi t se t fu t't ar S f<r i v+t qfu+ ilqqn too"r qr, i fq tcfl tz aq eil
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tr{$ ( coco 6 * ro rq ) : ft* Eiurq d ffi q,q+ + fr64 R. aqT q1 qrc"qTqc+ q}
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fir{ 13 : r{FIr q{ 2010 i I 6t qq: a sI qq = a r iTtg.

B,f .3nq = Il4vrs?, A{,re.Iq%:40%,Bdtel\l%:45%
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Frivr (coro 16 t 20 rm') , *if<irrtffi{fil t+qrd{if e,.B dqr c{ ftrflfttq}at
{qr ( E-qrt { ) wTl$ r$ t r<-"r,t rfr - traf+a srqqt q.{+ fi rqtdfu i w-c} * B-fl{ AfqS.

( {qtosilo cfrqn, zoro )

fun a qff t *r ffi t Eri q1 {@r ( Eqrt d )

!::!:::HllliH::::!

vFl 16.

vst 17.

vFt 18.

vsr 19.

rFr 20.

sd 2006 ds$f{sIf,{if {Bl=if d +Fdtqrffi fr?
(a) 30000 (D) e000 (c) 3000 (d) 6000 G) E{it+iTd
ftq rtn qm I t ffi qfl d d-n f{qrd{f i eli +1 g;e {qt wn fr ?

(") 2 (r) s (c)4 (d)3 C) flii+t$Td
qd zoo+ taacr c+t{flfffd{igtqd zoozt.arqr c*,ffitd+1{qtq,tqqrrq
ffi ytdsrd S?
(a) 85% (b) 80o/. (c) 75o/. (d) r84% (e) t31%
q{ 2003 t Rfr t{flqd A q$ ffitfi +1 g;o {er aw e{ zoos { a *, ffitd *1
{qr it f+C-+ erfl PIr r
(a) 2000 (r) 3000 (c) 3s00 (d) zsoo G) E{i t +{ r-d
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=:ooo.
J
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2004 -+ (1500 + 2s00 + 3000) = 7000, 2005 -+ (2500 + 3000 + 3500) = 9000,

2006 -+ (3000+ 2500+ 3500) = 9000, 2007 + (2500+ 3500+ 3000) = 9000.

se t fo: qfr zoos,2oo6,2oo7l @ + B + c) = 9000.
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srR 18 (a): ad ZOO+ t 1r + q : (2500 + 3000) : s5oo
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ur+*rfl{fqS. (tfofr"st" cfr{T, zoos )
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= so%
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: 3300 E-qR e{.

t"fr efr I a +t gn frqtd = (500 + 400 + 600 + 800 + 900 + 700 + 700) EsIR zt
= 4600 6iIR EI.

enfrEqt6 *=(ffi",*),

snfre vfr{ql =
33oo rtoo
4600

= 
r6so y. = 7 1. 7 4y. = 7 2;7"
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